4 N

2 2 — 2

X2+ y?=z2 DB RN %
IN2V X S k]
FHLE W=
. J
FU&HIC Lhb, ORI
Wi, BMFHCOEBPHERATHLD, a=2[?
LRFTRC, WHAARZLCHLE S, BEC at2b=2k2
Lol DEHA, BRICEZORAL )%, BHFR EBlt
bEDIAEBTEI Lo TR LY, TARIEER x?=a?+2ab=4k*"
WEBE R RHED S, y=tb=k2—I2
z=atb=R+P
SHBLRCLIF e, by oo e BYSTEEC () yapy (p2—p)2= (24 12)2

THhb, £, ROLFIE xR y=g2

(a, ¢) a, ¢ DRREA Enb. (@), WEALHEORTHS Z & 2 KET

(a, c)=1 a, clIHEWICHE P

SHE At (2) x=kl 4) x=2k!

(1) a?£2ab+52=(a£b)? =B y=K-P
(2) a2—b2= (a+b) (a—b) e =K+
(3) (a+b)2— (a—b)2=4ab =55 (h, 1) =1
(4)

4) (a+b+c)t=a?+2a(b+c)+ (b+c)?
hooXefALT
22+ yi=
DIfE RO 5,

1 x*=a?% 2ab DR
x2=q?+2ab=a(at2b)
lZBWnT
a=|*
at2b=k
EBE
¥2=al+2ab=k?
kz._.lz
2

R4
2

z=atb=

ZoRE, AR MIRALT

2

(2) k2 + (kz Y= (B5EY

Lot yi=g2

(2 | 1 y x z

(4 k ! x y z
3 1 2 1 4 3 5
5 1 3 2 12 5 13
5 3 4 1 8 15 17
7 1 4 3 24 7 25
7 3 5 2 20 21 29
7 5 6 1 12 35 37
9 1 5 4 40 9 41
9 5 7 2 28 45 53

2 x?=(a+b) (a—b) DR
=(q+b)(a—b)
IZBwT
a+b=2k
W 4 p=p
EBle
x=2kl
y=qg=k:—[?
Z=b=k+1?

11



ZOREARCNMAALTIOWERLERIC RS,

3 x?=4ab O}
1*=4ab

BT

a=k?

b=1[?

EBE, AXBLY
x=2kl
y=a—b=r—1[?
z2=a+b=k2+[?

@RIk 5.

(1)

4 (a+b+c)2=(a+b)2+ (b+c): DR
(a+b+c)i=a?+2a(b+c) + (b+c)?
lZBwT
(1) b®=2ac (a, ¢)=1
el -
a*+2a(b+c) =a?+2ab+b*= (a+b)?
“a+b+e)2=(a+b)2+ (b+c)?
kb,
bE=2ac DI
a=2k?
b=2k(21—1)
c=(21—1)?
I, ThozHw
t=a+b
y=b+c
z=ag+b+c
ET DL 24 y2=22 R T 5.

(a, e)=1

5 (a-+c)2=(a+b)2+c2 DR
(a+c)?2=(a+b)2+c?
£E95,
2ac=2ab+b?
b?=2a(c—b)
L b,
a=2k?
b=2k(21—1)
e'—b=(21—1)2
¢'=2k(21—-1)+ (21—1)2
Zhkn
x=a-tb

12

y=b+c'—b=¢
z=atb+te'—b=atc
LT B E 2 y2=22 PN T B,

4L 513F LK

15
35
63

21
45

THbH., RTRT.
®2
k l a b ¢ x| y=c

1 1 2 2 1 4
1 2 2 6 9 8
1 3 2 10 25 12
1 4 2 14 49 16
2 1 8 4 1 12
2 2 8 12 9 20
2 3 8 20 25 28
2 4 8 28 49 36

77

17
37
65
13
29
53
85

6 x"=a"+na"1b DR
g"=a"+na"b=a""1{a+nb)
ORT
a=nl"
a-+nb=nk"
EBlL
nb=n(k"—")
b=k
b,
2= (n")"~1(nkn)
=pypnjrn—1)
ox=nkin!
INHDREHWT
(a+b)?=a%+2ab +b?
(a+0)=a+3a2+-+ +0°

(a+b)"=a"+na" b+ e+ b
DEFAT

"=a"+na"1h

yr=b

z*=(a+b)"
R

2t=224y? (n=2)

2 >xt+y (n>2)
AIRY LD,




7 R ax?—bx+c=0 DR

x2—£x+£=0
a’  a

b _ ¢
* (;*x) T a
p=it Log=pr e
—b-a:
a
L), BOARLY
_ (24 ) £ ) — 2
F= 2

B2, £ _pop
a

_ P (1)

—p2 2
5 k% 1

kb,

8 (a+b+e)"DEFENEZDFIA
(a+b)"DRERXDEOREE BTN LI
NVOZHBHSTES,
IRAHNVDO=HT

n 2 3 4
0 1 1 1 1
1 1 1 X [2 % 3 4
2 1 2 1 1 3 Xi6
3 1 3 3 1 1 4
4 1 4 6 4 1 1
(1) (@+b+c)?
1 a*
2 2 2ab/ 2ac
1 2 1 b2 2bc c?
(2) (a+b+e)?
1 a®
3 3 3a%b/ 3a*c
3 6 3 3ab®/ 6abc 3ac®
1 3 3 1 B/ 3b%c 3b: B
(3) (@a+b+c)t
1 at
4 4 4a®h/ da’c
6 12 6 6a2b2"12a%bc 6a’c?

4 12 12 4 4ab¥12ab%c 12abc? dac’

1 4 6 4 1 bt/ 4% 60%?

BEHROEEMO L) 20T 5.

(a, ¢)=1
(d+b)":b"+An A, B,
(b+c)n:bil+cn b C,,

(@+b+c)*=b"+A,+B,+C,

4bc® ¢t

E¥5hH, £FZT
4) (@a+b+c)r=(a+b)*+ (a+c)"
Lok THE
b"+A,+B,+C,=b"+A,+b"+C,
(8) b"=B,
DY LD,
n=20&%
a=2k* c=1> b=2kl
LRI
b2=4k2% 2ac=4k?
S b2=2ac=hB,
Ehh, FOLEW)PEILT A,

B,=b" D}

408

(1) B;=2ac="0?

(2) Bs=3ac(2b+a+c)

(3) B4=4ac[ 362+3b{a+c) +a2+%ac+c2

(4) B,=nac(pb+q) (n>2)
L, (0, @=1 F70, 9=
‘. B,=nac(pb+q)>= b*
ERD@ P ILODIE =2 DL ZIZIRS,
zN2
(1) b=2X1l=acD & &
By=2qc=p?
(2) b=3X2=ac D& &
B3;>6ach=0

4) b=n(n—1)=ac Dt X
B,>n(n—1)ach"2=p"

THab.

XoT, B=0D& & n=2

1

13



